EARAROBEEIERT — 2 N— IBISH —F

2018%7H 150 (H) 2E{R56H

BE -7 1-F>Cc 4#-7> ¥5%3@E ER) G§E) o7

‘ [R1%] & ‘ [REBE] — |2 (&) 12000 B

[A®%] 1 7% 23,000,000 @ ~ 2 #:9,200,000  ~ 3 7#:5,800,000 ™

4 7% 13,500,000 . 5 & :2,300,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N ENAS :08. — . . BAHREE (EX)
2ol 2=ET0 0T B 5 B 1(0_8)3 3-3 33.81107.3| 3 (35133) s
RF A HE = BiFr—LEAY 2% 18
. . . 4 3 | AR 1:08.3 1-1 34.2107.1| 1 454 | ROER] (RR)
21111 J—IKIA14 =2 51.0 (74%) (0) g
R:VZRE—3I=XG— BHHFLET b R e
: ; i 3 | BEHE 1:08.6 2-2 34.3/103.8| 6 444 | FEEH (EH)
31811 ¥ FE7EIL 510 (1 3/2) o) | ) KTL=v>y
R:TTyTaAK BiRE—LKII a2 Eite
= i 6 | ALRIEE 1:08.6 9-7 33.5|104.4| 5 482 | BB (EH)
4K 3 | ®T1T1> 5.0 (74%) () | B 7IXT7—L
Z:A—-LvivsLr4o B:a—-Libiva TI2XITT7 =14
S . o N FiEE : - FIHREX (ERH)
5 10| ®@INVT L RI8=T ' 54.”0I 1'(028)'9 [ 34.01100.71 9 324) ﬁ%EEZ%
L:oNYTLR—9 B E—XZN=T LR 45
= N EAME(E :08. - . . i — (EXR)
e 473/ 6—> H 6 s 1(/(\)1;5)3 9-10 33.8(100.9 | 4 (4526) Pl
L:7RYfYL—> B:T7I/02FL5 HIRRENS
EHEE : - hEFRE (FEiM)
7B 2| /v b7x—=< [B] 8o et M R Rl gﬁ FHEd
L r—3UTL B:UIvsa—TLAY FHRE®S
RV 5 : > 7 | BBEHE 1:09.0 6-4 34.3| 99.5 | 1 468 | MKENE (FF)
glzlg| V1o —FK ~ | 50 ) (26) B) HoraL—ys
R:Fa5 8N BV INTIAR J—HrTp—L
= 7 | BEXtF 1:09.0 -1 [33.6|100.0| 8 406 | KEEE— (i)
9/5|5|77V>T7A4IZR # 49.0 (2 E) o) | B 759>
L:aR)IFNY) 77—/ B:ax/~w—HLy b 7592 T — L
PSR 4 3 | FlEX 1:09.2 7-7 34.3|97.4 | 2 492 | ERIEZE (ER)
10 7 214 E14TZ14 K 53.0 (3/4) () |EBHRmE
IANRZATNYT Brixv=Ar)U— ESliEe
o N JIHEEE : - aemEZ (E#)
1" 6| XTI TNELY i 5 e 1.(17o>.4 4-7 35.8| 85.9 | 10 :rﬁ28) =
XD THANAN B:AXIN-FK =y i)
@ 21 L
£ 45.2-34.2
NA>ZA L | 12.1-11.0-11.0-11.4-11.3-11.5
® 1—F—@EBIERL
13—7F-
Pal=5F=
30—4+— 1,11,9(2,6)8(10,7) (3,4)-5
40 —F— 1,11,9(10,2,8) (6,3,7)4,5
[ N5
B 9 530M 714K 1-9 350M e E 1-7 750 JEE 1-9-11 3,370
# B 9 170 9-11 1,140H B E 1-9 810 3EE 9-1-11 13,750M
1 140M 1-11 800M B H 9-1 1,760/
1 340H

ABICOVWTRDTEEERROODE. TR LIV,




